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SSLC MATHS SPECIAL QUESTION-2016

MARKS :100
SECTION - A

L. Choose the correct answer:- 15x1
1. Given f(x) = (-1)X is a function from N to Z. Then the range of f is

a){1} b) N c){1,-1} d) Z
2. The next term of in the sequence

1 1 1 1

(a) 21 (b) 2 (c) 30 (d) 3—@
3. When x=2 the value of 1+ x+x*+...+x° is

a) 511 b) 1023 c) 513 {d) 1025
4, The sum of two zeros of the polynomial is f(x) = 2x? 2@% 5 zero, then

the value of p is

X
a)3 b) 4 c)-3 ) -4
5. If L is aroot of the equation 2x*-5x+7 =0 , thenth ue of 7a® —5a is

a
a) 2 b) -2 c)5 d)-5
-1 Ojla b 1 0 .
6. [ 0 J [c d} = {0 _J , then the va}g%md d respectively are

a)-1,0,0,-1 b)1,0,0,1 %1 0 d)1,0,00
7. The centre of a circle is at(3, ircle touches the x -axis, then the

radius of the Circle is

a)3 b) 4 d)7
8. The equation of the s @'\e passing through the origin and
perpendicular to the straj 2x+3y-7=0is
a)2x+3y=0 c)y+5=0 d)y-5=0
9. If AABC~APQR and )=4 area (AABC)=1, then AB:PQ is
a)2:1 b) c)1l:2 d)1:4
10. If the tangents PA\an from an external point P to circle with centre O are
inclined to e er at an angle of 40° then ZPOA =
h) 80° c) 50° d) 60°
N=C
b) 2cos2x-1 ) 1 + 2sin2x d) 1-2cos2x
0 —sin(90°—0)sin O =
b) cot45° C) cosec45° d) cos90°

exgdius of a sphere is 2 cm, then the curved surface area of the sphere is

2 b)l6m cm? c)12m cm? d)jl6m cm?

wwi Kanéhikalvi.com www. TnpscExamOnlineResult.blogspot.in



www. TnpscExamOnlineResult.blogspot.in www.Kanchikalvi.com

14.

15.

I
16.

17.

18.
19.

20.

21.

Iftisthe S.D x, vy, z, of thentheS.Dof x+5,y+5,z+5is

a)% b) t+5 c)t d) xyz
Probability of getting neither 3 heads nor 3 tails in tossing a coin 3 times-i
1 1 3 1
e b) = hd d =
(@) 5 (b) ; © ; (@ 2
SECTION - B

Write a description of each shaded area.

0 (i) C@ OS \o

xif x>0
Let (X)z{

Answer any ten questions: (Q.No0.30 is compulsory) =20

—x if x < 0, where x e

Does the relation {(x y)| y=|x]|, XeR}<>

Find the sum of 31 + 33 + ... + 53.

Find a quadratic polynomial wi e given numbers as the sum and
. 1

product of its zeros 3 1

Solve : 3x—§:2
X

. SX +2 -4 12 -8
Find the values of x, y X :’ 5 }:[ 0 o }
z+

nction? Find its range.
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29.

30.

I11.

31.

32.

33.

34.
35.

36.

37.

38.

39.

A two digit number is formed with the digits 3,5 and 7. Find the probability
that the number so formed is greater than 57.(repetition of digits is not
allowed)

(a) Find the third term when the product of first five terms of a G.P 45~32.

(or)
(b) Prove the identity (in® 0 + cos® 0) =1 — 3sin® 6 cos® .
SECTION - C
Answer any 9 questions: (Q.No.45 is compulsory) 9x5 =45
Given P = {a, b, c,d, e}, Q ={a, e,i,0,ul and R& {a, ¢ e g}. Verify the
associative property of set intersection using venn di &
A function f: [-3,7)=R is defined as follows §§
4x2-1; -3< x<2 \
f(x) = 3x-2; 2 <x <
2x-3; 4<x<

Find () f(5)+f(6) (i) f(1)-f(H) -f(4) (iv)

f(3)+f (-1)
2f(6)—f(1)
If a person joins his work in 2010 v% nnual salary of Rs.30,000 and
receives an annual incremenl@e ery year, in which year, will his

annual salary be Rs.39,0007?

return downstream to t | point in 4 hrs 30 minutes. Find the speed

of the stream.

Show that the roats ation
(x—a)(x=b)+ (XL b)( g} + (X —¢) (x —a) = 0 are always real and the cannot
be equal unl

Find the sum of the following @5 +72492 4 .. +392
The speed of a boat in @ S 15km/hr. It goes 30 km upstream and
rigi

and C=[2 1] verify (AB)C = A(BC).

PQR , PQ = PR. The base QR lies on the x-axis, P lies on the y-
y + 9 = 0 is the equation of PQ. Find the equation of the straight

d prove Angle Bisector theorem.
tan0+sec6 -1 1+sin6
tan 0 —sec 0 +1 cos 0

sector containing an angle of 120° is cut off from a circle of radius 21 cm
and folded into a cone. Find the curved surface area of the cone.
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42.

43.

44,

45.

IV.
46.

47.

Water in a cylindrical tank of diameter 4m and height 10m us released
through a cylindrical pipe of diameter 10cm at the rate of 2.5 Km/hr. How
much time will it take to empty the half of the tank? Assume that the tank is
full of water to begin with.

Calculate the variance.
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Length (cm)

1-10

11-20

21-30

31-40

41-50

51-60

No. of bits

2

3

12

5

/7

The probability that AB and C and solve a pfpblem a&e

respectively. The probability of the problem being sqlve

BandCis%

the three isi )
35

, Aand C is%. The probability of 0 being solved by all

n be solved by atleast

one of them.

4x° +

(b) If (7, 3),

at that point using t

a) Draw a circle of radius
t
b) Construct SSB@t BC =5 cm, ZA=45°and the median from A to

BCis 4 cm.

a) Draw the
b) A

Find the probability that
(a) Solve the quadratic equation b&%ﬂne square :

4bx — (a®*—b®) =0

N-D
er of the alternatives :

(6,1),(8,2) and ( re vertices of a parallelogram taken in
order, then find the Valu@ q.

2x10=20

cm. Take a point on the circle. Draw the tangent
- chord theorem. (or)

of the function y=3x*.(or)

W workers x |3

4 6 16

ays y 196 |72 48 32 18

/

Draw
ta

A

b

or the data given in the table. Hence find the number of days

2 workers to complete the work.
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